
Solid Sub Frame Mounts                                                                                                                                                           993                                                                                                                                                                                                                                                       

Check to make sure that you have all parts listed prior 
to installation. If anything is missing contact us 
immediately. 802.893.7366

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. accepts no responsibility for 

warranty voids or damage resulting from the use of these products. Do to the varying location of wiring harnesses and 
other components, carefully inspect any area prior to drilling. All Rennline products are intended for off road use and 

SB 65.66                                                                                                                                                                                                 

Parts List: Solid Bushings & Tilt Kit
(12) Bushings
(2) M12x1.5x90 Bolt V.A.G: N-908-235-01
(2) M12x1.5x110 Bolt V.A.G: N-907-996-01

Solid Bushings
(8) Bushings
(4) M12x1.5x90 Bolt V.A.G: N-908-235-01

Frame Rail  (Rear Mounts)

Sub Frame

Solid Mount Upper Half(x4) 

Solid Mount Lower Half(X4) 

M12 X 90MM Bolt (X4) 

Step 1 - Remove factory rubber mounts
Step 2 - Install solid mounts and tilt blocks as shown below.
Step 3 - Torque bolts to 90 ft-lbs.

Frame Rail (Front Mounts)

Sub Frame

M12 X 110MM Bolt (X4) 

Rear Tilt Blocks (X2)

Front Tilt Blocks (X2)

Solid Mount Upper Half(x4) 

Solid Mount Lower Half(X4) 


